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Abir, Yuvraj, Diya, Vardan, and Vihaan were 5 friends who lived in the same building. They loved to eat 
pizza at a restaurant called ‘Papa Tony’s Pizza’. Infact they loved eating the pizza there so much that Abir 
would go there every 2nd day, Yuvraj would go there every 4th day, Diya would go there every 6th day, 
Vardan would go there every 8th day, and Vihaan would go there every 9th day.  

 

One day, they all happened to be at the restaurant together. This was one of those days that seemed to 
occur rarely, but they all loved it. They were very happy to meet each other and were having a lot of fun 
together.  

Suddenly, Abir said, “Guys, this is so much fun! I am so happy that we all are here together. But is there 
any mathematical concept that we can use to figure out when will be all be together again? 

They all looked at Vihaan because he was the best at maths.  

Vihaan thought for a while and then said excitedly, “Yes! There absolutely is! We can use the concept of 
Lowest Common Multiple (LCM) to figure out when we will all be together again.” 

“LCM! What’s that?” Everyone else asked 

“Before I explain what LCM is, does anyone know what multiples are?” Vihaan asked. 



No one knew the answer.  

Then Vihaan said, “OK let me explain, Multiples of a number are values that can be divided by that number 
without a remainder. For example, multiples of 2 are 2,4,6,8,10 etc since they can all be divided by 2 
without a remainder” 

 

Diya exclaimed, “OHH so all the numbers in the times table of 2 are multiples of 2, since they can all be 
divided by 2 without a remainder. Right, Vihaan?” 
 
“Absolutely.” replied Vihaan. “Now everyone take a sheet of paper and write down the multiples of the 
days that you come on. So Abir, you write down the multiples of 2 since you come every second day. 
Yuvraj, you write down the multiples of 4 since you come every 4th day. Diya, you write down the 
multiples of 6 since you come every 6th day. Vardan, you write down the multiples of 8 since you come 
every 8th day, and I’ll write down the multiples of 9 since I come every 9th day.” 
 
“How many multiples do we have to write Vihaan?” asked Vardan 

Vihaan thought for a while and then replied, “Since we don’t know how many days it can take for us all to 
meet again, just fill the whole page with multiples.” 

Everyone did as they were told and handed their sheets to Vihaan who put all the multiples together on 
one sheet.  



 

Vihaan stared at the paper for a while and then smiled broadly. 

“Did you figure it out Vihaan?!” Everyone exclaimed.  

“Yes, I did. I found the LCM of the tables of 2,4,6,8, and 9” Vihaan stated excitedly 

“Ughhh. Can you tell us what LCM is now?” Yuvraj asked 



“Right, of course” Vihaan said. “The lowest common multiple (LCM) of two numbers is the smallest 
number that is a multiple of both of them. For example, 2 and 3 have many common multiples: 6, 12, 18 
and so. But 6 is the smallest number that is a multiple of both 2 and 3. Therefore, the LCM of 2 and 3 is 
6.” 

 

“Ohh I get it.” said Diya. “But how will this help us in real life, to figure out when we will all eat pizza 
together again?” 

“The day that you come on is the multiples of the table. For instance Diya, if today is Day 1 and you come 
every 6th day then you will come on Day 6, Day 12, Day 18 etc. Now since we’ve figured out what days 
everyone will come on (using the multiples table) we can find the lowest common multiple. This will be 
the closest day from today when all of us will come together again to eat pizza” answered Vihaan.  

“I understand now. So have you figured out the LCM of 2, 4, 6, 8 and 9?” questioned Diya. 

“Yes, I have! The LCM of 2, 4, 6, 8, and 9 is 72. You can see that I’ve circled it in green on the common 
sheet with all our times tables. That means that we will ALL meet again to eat pizza 72 days from now.” 
Vihaan explained.  

“Hooorayyy!!! Everyone exclaimed happily. “We can’t wait for that day.” 

They all ordered their favourite ice creams for dessert and were about to leave, when Vardan asked a 
question. 

“Vihaan, I have understood what multiples and lowest common multiple is and also how to find LCM. But 
the method that we used was very long and time taking. Is there any other shorter way that we can use 
to find the LCM of numbers?” 

“You’re right Vardan. The method we have used, is known as the ‘multiple method’ and it can be very 
time-taking, especially when you have to take bigger numbers. There is a shorter method that we can use. 
Would you all like to learn it?” asked Vihaan. 

“YES” everyone replied excitedly.  



“Alright. The other method is known as the ‘prime factorization method’. Do you guys know what prime 
and composite numbers are?” Vihaan asked the others. 

“Yes!” exclaimed Abir and Vardan excitedly.  

“No.” answered Diya and Yuvraj sadly. 

“No problem, I can explain it to you” Vihaan continued. 

“Prime numbers are numbers that are divisible by only 2 numbers without leaving a remainder, 1 and 
itself. For example, 2 is a prime number since it can only be divided by 1 or 2 (itself) without leaving a 
remainder. Similarly, 3 is also a prime number since it can only be divided by 1 and 3 (itself) without leaving 
a remainder.” “ 

 

Can you guys think of any other prime numbers?” 

“5!” 

“7!” 

“11!” 

“13!” They all said 

“Very good,” said Vihaan, “You have all answered correctly. Composite numbers are the opposite of prime 
numbers. They can be divided by more than 2 numbers without leaving a remainder. For instance, 4 is a 
composite number since it can be divided by 1, 2, and 4 (itself) without leaving a remainder. 6 is also an 
example of a composite number since it can be divided by 1, 2, 3, and 6 (itself).” 



 

“In the prime factorization method, you have to find prime numbers that can be multiplied to find your 
number. Since I come on every 9th day, I will find the prime factorization of 9. The prime factorisation of 
9 is 3x3. Can you guys do the prime factorisation’s of your numbers as well.” 

Everyone followed Vihaan’s instructions and did the prime factorisation for their numbers.  

 

 

 

 

 

 

 

 



 



“Very good guys,” said Vihaan, “You have all done it correctly. Just to make it clearer, I have circled all 
prime numbers with blue and all the composite numbers with orange. What Vardan did was also very 
clever. Remember, you don’t have to start off with prime numbers. You just have to end up with prime 
numbers. For example, Vardan first divided 8 by 2 and 4(which is not a prime number) and then divided 
the 4 into 2x2. His final answer was 2x2x2 which is 8, which is the correct prime factorisation for his 
number.” 

 

“Now that we have the prime factorisation for all our numbers, we can use this to figure out the LCM. To 
do this, we need to follow these steps: 

1. Start with the smallest number and list down its prime factors. Our smallest number is 2 and since 
it is a prime number itself, its prime factor is just 2 

2. Next we will take 4. The prime factorisation for 4 is 2x2. That means we need to write 2 down 
twice. But we have already written it once so we will only write it one more time.  

3. Next is 6. The prime factorisation for 6 is 2x3. We have already written down 2 twice, so we don’t 
need to write another 2. But we’ve don’t have a single 3 yet so we need to write 3 down.  

4. After that we will take 8. The prime factorisation for 8 is 2x2x2. This is three 2’s. We have already 
written down two 2’s, so we will only write 2 one more time.  

5. Finally, we have 9. The prime factorisation for 9 is 3x3. This is two 3’s. We have already written 
down 3 once, so we will only write it one more time.” 

Vihaan explained these steps to his friends. While explaining the steps, he made the table seen below.  

 

 

 



 

As seen in the table, to calculate the LCM, he wrote three 2’s and two 3’s. This came out to be 2x2x3x2x3 
which is equal to 72, meaning that the friends would all meet together again after 72 days.  

The friends were very very happy. Both the methods lead to the same answer which meant that their 
calculations were correct. This made them even more happy as it meant that they would all enjoy pizza 
again together after 72 days.  

“Thank you Vihaan!” They all rejoiced. “You taught us some amazing maths concepts and also how we can 
apply them in real life. It was a lot of fun to learn about LCMs from you” 

“No problem guys! It was my pleasure. In fact you know what, since we know all of us are going to be 
together after every 72 days, we should call it………. 

 

‘OUR PIZZA DAY!’ 
 



 


